A

MIMI A

YT

\

)

F/




BOT |

BOP |

BKW {

BKO

NL

These holes

only for size 100cm

MM A

BOT
BOP
BKW
BKO
BKZ
BKP

NP

NL

X
X
X
XL
X
X2
X2
X2




()
LN % (D)
ERFIRLFY 29 ggs
> > N w
)
oYX VN O, = I — O = W
<< OO0 ununun== — Ll
— - =2 Xx Vv = a2
M VJ K (o) LN N
> = o9 L =
()
|
L
<
>
LM
% * <
{/
a8
/4
€
7
K8 M8x35
0 )
— TRZ M5X35
W25 MLX25
S50 M6X50
o)\ @;%%%g
W (a1 W
) V) <
- = — N




The same situafion for element

T

SEXGW 7
0

SEXGN B




O .

The same sifuafion for elements

OO0




g
0a 02 20 20 20 20 20 HWMW

e
ot 20 20 10 20 10 20

(s~




) )
( (

N \
/ )
( Q
\ N

) )
/ /

) )
N\  y ‘ N\
(/ )

/ /
( .,
\ \
) )
( /
)
VaVeaVaVvaeaVvaVvaVvaS P VaVYVaVYVaVYal

01 10




LR} LR Y e 0 LR} 0L 10 19 10 V0 19 19




-
o

il

Only for size 100 cm




/ 0z Qs 02 02 08 20 20 20 20 10 y

9




S50 M6X50
(0

10




S50 M6XS0
(0 S

*IMPORTANT!

11




W25 MELX25

o,,

,@t\\x \

(N
—







o

IMPORTANT @

(U
> ;; £ Beds are for sleeping, Prohibit more than
AA- @ LOWER BED
not for jumping one person on bed
@YEARS
Use only mattresses Bed parts have 2 years
with thickness of 8-12 cm warranty in normal use

Use the ladder to get in and out of the upper bed
Do not hang on structural elements

Design and execution in accordance with the standard
PN-EN 747-1+A1.2015-08

Wooden parfs should be cleaned with a dry cloth and ordinary
mild defergenfs for the care and cleaning of wooden parts




	582dc5999bdfe08d91640858d451298ea25256a8b041574275fedd8ab2527ae0.pdf
	dcb596f6623b2c02e29234514d2946a85d64decded95121405aff81817d7b20b.pdf

